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108 118 (RIFERED) | FIERE) ((RIFEERID|(R2EERET)| F1UHEH] | F2m3H
IR ERTE 22,311 23,392 266,620 266,874 185,450 183,684 67,635 72112
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= = 2,740 2,826 29,357 28,724 21,362 21,610 7,958 7,838
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(A471)] (A50.0) (A1458) (1.7 (A14.8) (2.5) (A14.8) (24.0)
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3 (30.8) (42.9) (67.9) (A8.4) (53.6) (9.1) (32.1) (80.6)
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* & 2 0 1" 6 5 6 5 5 0
= (0.0) (0.0) (20.0) (66.7) (20.0) (400.0) (150.0)] (A100.0)
g 0 o" 0 0 0 0 0 0

25 ? (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
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=~ A = 0 1" 6 5 6 5 5 0
= " (0.0) (0.0) (20.0) (25.0) (20.0) (150.0) (150.0)[ (A100.0)
R34 R3.1~11 R2.1~11 R3.4~11 R2.4~11 R3ZEE R34EE

108 1A (RIERFD) | @TERY) [[(RIEERID|RVEER| S1misy | Homk

== T R 39 17 298 341 237 248 79 102
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= ®m 0 1 14 8 11 7 7 3
™o (0.0) (0.0) (75.0) (60.0) (57.1) (75.0) (16.7) (0.0)
I 1 0 5 5 4 2 3 0

E (0.0)] (A100.0) (0.0) (A50.0) (100.0)] (A77.8) (0.0)| (A100.0)
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